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Question 13- The ratio of land to water for the whole earth is 1:2 and 2:3 in 

the northern hemisphere. What is the ratio of land to water in the southern 

hemisphere?

प्रश्न 13- सम्परू्ण पथृ्वी के लिए भलूि और जि का अनपुात उत्तरी गोिार्द्ण िें 1:2 और 2:3 ह।ै 

दलिर्ी गोिार्द्ण िें भलूि और जि का अनपुात क्या ह?ै

A.1:3

B. 1:4

C. 2:3

D.3:4

E. None of these
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A.24 days

B. 20 days

C. 32 days

D.26 days

E. None of these

Question 1- A, B and C can do a piece of work in 36 days. 54 days and 72 

days. They start work together but a left 8 days before completion the work and 

B left 12 days before completion the work. In how much time total work was 

completed.

प्रश्न 1- A, B और C एक कायण को 36 लदनों िें कर सकते हैं। 54 लदन और 72 लदन। वे एक साथ 

काि शरुू करते हैं िेलकन A काि परूा होने से 8 लदन पहिे छोड़ दतेा ह ैऔर B काि परूा होने से 

12 लदन पहिे छोड़ दतेा ह।ै कुि कायण लकतने सिय िें परूा हुआ?
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A.60 days

B. 25 days

C. 30 days

D.20 days

E. None of these

Question 2- If 10 men and 15 women complete a piece of work in 8 days while 

12 men and 8 women can complete the same piece of work in 10 days. If A boy 

is 50% less efficient than the man, then find the time taken by 2 men, 2 women 

and 8 boys to complete the same work. 

प्रश्न 2- यलद 10 परुुष और 15 िलहिाए ंएक कायण को 8 लदनों िें परूा करते हैं जबलक 12 परुुष और 8 

िलहिाए ंउसी कायण को 10 लदनों िें परूा कर सकते हैं। यलद एक िड़का परुुष की तिुना िें 50% कि 

कुशि ह,ै तो सिान कायण को परूा करने िें 2 परुुषों, 2 िलहिाओ ं और 8 िड़कों द्वारा लिया गया 

सिय ज्ञात कीलजये।
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A.48 days

B. 36 days

C. 28 days

D.24 days

E. None of these

Question 3- A contract is to be completed in 28 days and 52 men are set

to work, each working 8 hours a day. After 15 days, 2/5th of the work is

finished. How many additional men may be employed so that work may

be completed on time, each man now working 9 hours per day?

प्रश्न 3- एक अनबंुध को 28 लदनों िें परूा लकया जाना है और 52 परुुषों को काि करने के

लिए लनधाणररत लकया गया ह,ै प्रत्येक लदन िें 8 घटें काि करता ह।ै 15 लदनों के बाद, काि का

2/5 भाग सिाप्त हो जाता ह।ै लकतने अलतररक्त परुुषों को लनयोलजत लकया जा सकता है तालक

काि सिय पर परूा हो सके, प्रत्येक व्यलक्त अब प्रलत लदन 9 घटें काि कर रहा ह?ै
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A.15 days

B. 20 days

C. 35 days

D.30 days

E. None of these

Question 4- If A is 2 times more efficient than B and Efficiency of B is 2 

times of C. A, B and C together complete a work in 10 days. How much 

time will be taken by B and C together to complete same work. 

प्रश्न 4- यलद A, B से 2 गनुा अलधक कुशि ह ैऔर B की कायणििता C की 2 गनुा ह।ै A, 

B और C एक साथ एक कायण को 10 लदनों िें परूा करते हैं। B और C को सिान कायण को 

परूा करने िें लकतना सिय िगेगा?
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A.80%

B. 60%

C. 40%

D.30%

E. None of these

Question 5- A completes 25% of work in 12 days and B completes 10% 

of same work in 2 days. Both start work together but after 10 days B left 

the work. The remaining work done by A and C in 5 days. Then find C is 

what percent more efficient than A?

प्रश्न 5- A 25% कायण को 12 लदनों िें परूा करता ह ैऔर B उसी कायण का 10% 2 लदनों िें

परूा करता ह।ै दोनों एक साथ काि शरुू करते हैं िेलकन 10 लदनों के बाद B काि छोड़ दतेा 

ह।ै शेष कायण A और C द्वारा 5 लदनों िें लकया जाता ह।ै तो ज्ञात कीलजये लक C, A से लकतने 

प्रलतशत अलधक कुशि ह?ै
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A.14 days

B. 24 days

C. 18 days

D.16 days

E. None of these

Question 6- P’ is 40% less efficient than ‘Q’ who can do the same work 

in 20% less time than ‘R’. If P and Q together can complete 40% of work 

in 12 days, then in how many days 60% of work can be completed by R 

and Q together. 

प्रश्न 6- P, 'Q' से 40% कि कुशि ह ैजो उसी कायण को 'R' से 20% कि सिय िें कर 

सकता ह।ै यलद P और Q लििकर 40% कायण को 12 लदनों िें परूा कर सकते हैं, तो R और 

Q लििकर 60% कायण लकतने लदनों िें परूा कर सकते हैं?
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A.100%

B. 250%

C. 300%

D.400%

E. None of these

Question 7- A and B can do a piece of work in 90 days and 60 days. 

They together can do the same work in y day. If they wants to complete 

this work in y/2 days then by how much percent efficiency of A should 

be increased.

प्रश्न 7- A और B एक कायण को 90 लदनों और 60 लदनों िें कर सकते हैं। वे एक साथ उसी 

कायण को एक लदन िें कर सकते हैं। यलद वे इस कायण को y/2 लदनों िें परूा करना चाहते हैं, तो 

A की दिता िें लकतने प्रलतशत की वलृर्द् की जानी चालहए?
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A.14 days

B. 21 days

C. 33 days

D.28 days

E. None of these

Question 8- 16 men or 20 women can do a piece of work in 42 days. In 

how much time 20 women and 8 men can do the same work.

प्रश्न 8- 16 परुुष या 20 िलहिाए ंएक कायण को 42 लदनों िें कर सकते हैं। 8 परुुष और 20

िलहिाए ंसिान कायण को लकतने सिय िें परूा कर सकते हैं?
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A.90.66 days

B. 126.66 days

C. 96.66 days

D.106.66 days

E. None of these

Question 9- P and Q can do a 50% of work in 20 days while Q alone 

takes 60% more time than P and Q to do the same work. In how much 

time P alone can do the whole work.

प्रश्न 9- P और Q एक कायण को 20 लदनों िें परूा कर सकते हैं जबलक Q अकेिे उसी कायण 

को करने के लिए P और Q से 60% अलधक सिय िेता ह।ै P अकेिे परेू कायण को लकतने 

सिय िें परूा कर सकता ह?ै





https://t.me/mathbytarunsirmepl

A.0

B. 10

C. 20

D.50

E. None of these

Question 10- A 10 meter of high wall is to be built in 200 days. 60 men 

start working on it but after 80 days only 6 meter wall has been built. 

Find the additional number of men to completely built wall in time.

प्रश्न 10- 200 लदनों िें 10 िीटर ऊंची दीवार बनाई जानी ह।ै 60 आदिी इस पर काि करना 

शरुू करते हैं िेलकन 120 लदनों के बाद केवि 6 िीटर की दीवार बनाई गई ह।ै सिय पर परूी 

तरह से लनलिणत दीवार पर परुुषों की अलतररक्त संख्या ज्ञात कीलजए।
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A.12 days

B. 15 days

C. 18 days

D.24 days

E. None of these

Question 11- The efficiency of P is 30% more than Q. P can do a work in 

23 days. In how much time they will together complete the whole work.

प्रश्न 5- P की कायणििता Q से 30% अलधक ह।ै P एक कायण को 23 लदनों िें कर सकता ह।ै 

वे एक साथ परेू कायण को लकतने सिय िें परूा करेंगे?
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